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This paper consists of 50 objective – type questions

Attempt all questions

You are required to write the correct answer, A, B, C or D in the box provided on the right side of each

question.

Do not use pencils.
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1. Which one of the following mixtures is best separated by using a separating funnel?
A. Cooking oil and water

B. Sugar and water

C. Sand and water

D. Ethanol and water

2. Ethene can react to form a solid whose molecular mass is more than 9000.
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	A.
	Cracking
	B.
	Hydrogenation

	
	C.
	Vulcanization
	D.
	Polymerization

	3.
	When an electric current is passed through molten magnesium chloride, the


A. magnesium chloride will glow brightly

B. magnesium chloride will conduct current and sublime


C. magnesium ions will gain electrons from the current D. chloride ions will travel to the anode

4.
Which one of the following alloys can be used for making space satellites?

A. Duralumin

B. Solder

C. Bronze

D. Brass

5. Which one of the following sulphates is insoluble?
A. Iron II Sulphate

B. Copper III Sulphate

C. Barium Sulphate

D. Zinc Sulphate

6. Which one of the following nitrates will decompose to form a metal when heated strongly?

A.
B.


C.
(
)
D.
(
)

7. Increase in temperature will greatly increase the solubility of ?
A. Sodium chloride

B. Potassium nitrate

C. Potassium chloride

D. Sodium nitrate

8. Which one of the following processes adds Sulphur dioxide into the atmosphere?
A. Fractional distillation of liquid air

B. Burning of coal and oil

C. Decaying organic matter

D. Heating lime stone in a kiln.


9.
The molecular formula of a compound formed when element Q combines with T is . Which one of the following is the structural formula of the compound?


	A.
	T
	B.
	T
	C.
	Q
	D.
	T

	
	
	
	
	
	
	
	

	
	Q   T
	
	T   Q
	
	T   T
	
	Q   Q
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10. Which one of the following processes increases the concentration of oxygen in the atmosphere?
A. Fermentation
B. Photosynthesis


C. Decaying of organic matter
D. Combustion

11. Which one of the following substances are normally formed when a metal is reacted with dilute
mineral acid?

A.
A salt of the metal and hydrogen gas
B.
A salt of the metal and water


C.
Oxide of the metal and hydrogen gas
D.
Oxide of the metal and water

12. The reaction between dilute Hydrochloric acid and magnesium ribbon is fast at the beginning and gradually slows down there after. This observed gradual decrease in the rate of reaction is due to the:
A. endothermic reaction between magnesium ions and chloride ions.

B. gradual decrease in number of Hydrogen ions during the reaction.

C. insolubility of magnesium chloride being produced.

D. increase in the pressure above the reaction vessel brought about by the Hydrogen gas being produced

13. The table below shows melting points and boiling points of substances ABC and D. Which of the substances is a gas at room temperature (250)

	Substance
	Melting Point (0C)
	Boiling Point (0C)

	A
	650
	1000

	
	
	

	B
	115
	9

	
	
	

	C
	20
	142

	
	
	

	D
	18
	119

	
	
	



14. The atomic number of element Z is 15. In which group of the periodic table is Z?

A. Group I B. Group II C. Group V D. Group VII

15. The products of the reaction between concentrated sulphuric acid and copper are
A. Sulphur dioxide and copper (II) sulphate

B. Water, copper (II) sulphate and hydrogen

C. Water, Sulphur dioxide and copper (II) sulphate

D. Water and copper II sulphate

16. Which one of the following reactions shows the oxidizing property of nitric acid?

	A.
	(  )
	(  )
	
	( )
	( )
	

	B.
	( )
	(  )
	(
	) (
	)
	( )
	( )

	C.
	( )
	(  )
	(
	) (
	)
	( )
	( )

	D.
	( )
	(  )
	(
	) (  )
	( )
	



17. When aqueous ammonia was added to solution R a white precipitate was formed which dissolved in excess ammonia solution. R contained

	A.
	B.
	C.
	D.
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18. One advantage of hard water is that
A. it forms lather more readily with soap

B. it does not contain Corona virus

C. it contains calcium compounds which help to form healthy bones
D. it forms scales in boilers which prevent the boilers from leaking


19.



The valency of Y in


(


)



is

A.

C.



B.


D.

20. Sulphur dioxide reacts with oxygen to form sulphur trioxide according to the equation

	
	2
	( )
	( )
	
	
	
	
	( )
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	

	Which one of the following conditions favours the formation of sulphur trioxide?

	A
	High pressure and low temperature
	B.
	Low pressure and high temperature

	C.
	High pressure and high temperature
	D.
	Low pressure and low temperature



21. Which one of the following nitrogen compounds contains the least amount of nitrogen?
(
)


A.

C.



B.

D.

22. Which of the following will decompose to give a metal when strongly heated?
A.
B.
(
)


C.
(
)
D.

23. Which of the following is not a property of hydrogen chloride?
A. It forms a white precipitate with silver nitrate

B. It turns moist blue litmus paper red

C. It forms white fumes with ammonia gas

D. It bleaches coloured flowers

24. Propane burns in air according to the following equation.

	
	(
	)
	
	
	(
	)
	( )
	(
	)
	
	
	
	

	Which one of the following is the volume of air required for complete combustion of 300cm3

	of propane. (
	
	
	
	
	
	
	
	
	)
	
	
	
	

	A.
	(
	
	
	) cm3
	
	
	B.
	(
	
	
	) cm3
	

	
	
	
	
	
	
	
	
	
	
	
	
	

	C.
	(
	
	
	
	
	) cm3
	
	D.
	(
	
	
	
	) cm3
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	
	

	25.20g of methanol, (
	
	), burns in air to liberate 226 kJ of heat. The amount of heat liberated

	when 1 mole of methanol is burnt in air is? (
	
	
	)
	
	
	
	

	A.
	(
	
	
	
	) kJ
	
	
	B.
	(
	
	
	) kJ
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	
	
	
	
	
	

	C.
	(
	
	
	) kJ
	
	
	D.
	(
	
	) kJ
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	26.
	The electronic configuration of elements   and
	are
	and
	respectively.

	
	The formula of the compound formed between
	and
	is?
	

	
	A.
	
	B.
	
	

	
	C.
	
	D.
	
	

	27.
	An oxide of metal
	can be reduced by metal
	but not by metat
	. The correct order of the

	
	reactivity of   ,
	and   starting with the least reactive is?
	

	
	A.
	
	B.
	
	

	
	C.
	
	D.
	
	



28. Lead nitrate decomposes according to the equation:
(
)()  [image: image1.png]


     ()
()
()

The mass of lead monoxide that is produced when 4.5g of lead nitrate is completely

	decomposed is? (
	)
	
	
	

	A.
	(
	
	) g
	B.
	(
	
	) g

	
	
	
	
	
	
	
	

	C.
	(
	
	
	) g
	D.
	(
	
	) g

	
	
	
	
	
	
	
	
	



29. Which of the following properties is not shown by carbon monoxide?

A.
It is an acidic oxide
B.
It is a reducing agent

C.
It is insoluble in water
D.
It pollutes the atmosphere

30. The cation which when reacted with aqueous sodium hydroxide will form a precipitate that is soluble in excess sodium hydroxide solution is

A.
(
)
B.
(
)

C.
(
)
D.
(
)

31. The compound which does not form an electrolyte when dissolved in water is

A.
potassium chloride
B.
ethanoic acid

C.
ethanol
D.
hydrogen chloride

32. Which one of the following pairs of hydrocarborns can be represented by the same general formula?
A.
Propane and Propene
B.
Butyne and Propyne


C.
Butane and Propene
D.
Butane and Butyne

33. Which one of the following hydro carbons can undergo polymerization reaction?
A.
B.


C.
D.

34. Which one of the following gases is removed when air is passed through sodium hydroxide solution during the manufacture of oxygen?
	A.
	Water vapour
	B.
	Carbon dioxide
	
	

	
	
	
	
	
	

	C.
	Rare gases
	D.
	Nitrogen
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35. Hydrogen peroxide decomposes according to the following equation.
2
() [image: image2.png]


     ()
().

Which one of the following is the volume of oxygen produced when 34g of hydrogen peroxide

	is completely decomposed at s.t.p.? (
	
	)One mole of a gas occupies 22.4dm3 at s.t.p)

	A.
	(
	
	) dm3
	B.
	(
	
	) dm3
	

	
	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	
	

	C.
	(
	
	) dm3
	D.
	(
	
	) dm3

	
	
	
	
	
	
	
	


36. Which one of the following is observed when hydrogen is passed over heated lead (II) oxide?
A. A brown solid B. A grew solid C. A black solid D. A yellow solid


37. Aluminium reacts with copper (II) ions according to the following equation.
3
(
)
() [image: image3.png]


    ()
(
)

Which one of the following is the mass of copper obtained when 50g of Alluminium reacted?

	A.
	(
	
	
	) g
	B.
	(
	
	) g

	
	
	
	
	
	
	
	
	

	C.
	(
	
	) g
	D.
	(
	
	
	
	) g

	
	
	
	
	
	
	
	
	
	



38. Which one of the following pairs of cations when in solution can be distinguished using Potassium iodide solution?

A.
and
B.
and

C.
and
D.
and

39. The graph P in figure 1 shows the variation in mass with time when 100g of calcium carbonate
	powder was reacted with excess
	
	at 250C.

	Massofcalciumcarbonate
	
	P

	
	
	

	
	
	Fig. 1

	
	
	

	
	
	

	
	Q

	
	
	Time



To obtain graph Q for the same reaction, one would keep all other conditions of the reaction the same but

A.
reduce the temperature by half way.

C.
use 2M hydrochloric acid



B. use 50g of calcium carbonate powder D. use 100g of calcium carbonate lumps


40. Which one of the following hydroxide will react with both dilute hydrochloric acid and aqueous sodium hydroxide?
A.
(
)
B.
(
)


C.
(
)
D.
(
)

6

Each of the questions 41 – 45 consists of an assertion (statement) on the left hand side and a reason on the right – hand side.

A. If both the assertion and the reason are true statements and the reason is a correct explanation of the assertion.
B. If both the assertion and the reason are true statements but the reason is not a correct explanation of the assertion.
C. If the assertion is true but the reason is not a correct statement.
D. If the assertion is not correct but the reason is a correct statement.
	
	
	INSTRUCTIONS SUMMARISED.

	
	Assertion
	Reason

	A.
	True
	True (reason is a correct explanation)

	B.
	True
	True (reason is not a correct explanation)

	C.
	True
	Incorrect

	D.
	Incorrect
	Correct



	41.
	Graphite is a soft substance
	because
	it has weak intermolecular forces

	42.
	Ammonium chloride and sodium
	because
	sodium chloride has lower melting

	
	chloride can be separated by
	
	point than ammonium chloride

	
	sublimation
	
	

	43.
	Lithium, sodium and potassium are in
	because
	they are all metals

	
	the same group of the periodic table
	
	

	44.
	The pH of a 1M hydrochloric acid is
	because
	Both hydrochloric acid and sulphuric

	
	equal to the pH of a 1M sulphuric acid
	
	acid are strong acids

	45.
	Rubber is more elastic than polythene
	because
	Rubber is a natural polymer



In each of the questions 46 to 50, one or more of the answers given may be correct.

Read each question carefully and indicate the correct answer according to the following:

A. If 1, 2 and 3, only are correct

B. If 1 and 3 only are correct

C. If 2 and 4 only are correct

D. If 4 only is correct

46. The slag formed in the blast furnace during the extraction of iron is used for
1. surfacing roads

2. making steel

3. manufacturing cement

4. electroplating
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47. Element X burns with a yellow flame and reacts vigorously with water producing an alkaline solution and a gas that gives a pop sound with a lighted splint.
Which of the following statement is / are correct?

1. X could be a group 1 element

2. The gas given off is hydrogen

3. X burns in air forming a basic oxide

4. X will most likely form a covalent chloride.

48. Which of the following conditions does NOT affect the rate of reaction between lumps of calcium carbonate and dilute Hydrochloric acid?
1. Grinding the calcium carbonate

2. Adding iron powder to the mixture

3. Warming the reaction mixture

4. Exposing the reaction mixture to light

49. Which of the following compound(s) has / have a multiple bond?
50. In which of the following reactions is a catalyst required?

	1.
	(
	)
	
	( )
	
	( )
	

	2.
	2
	(
	)
	(
	)
	(
	)

	3.
	
	(
	)
	(
	)
	(
	)

	4.
	
	( )
	
	(
	)
	( )
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